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Crochet Step Shawl Pattern 

 

This pattern was adapted from naztazia.com to use 4-ply yarn and an H (5.0mm) 

hook, and to eliminate the fringe.  Link to the original is here (with tutorial): 

https://naztazia.com/crochet-step-shawl/ 

 

 
 

Abbreviations: 

CH = chain 

SC = single crochet 

DC = double crochet 

* = repeat instructions in parentheses 

 

Supplies: 

4-ply yarn (about 10 oz) 

H/8/5.0mm crochet hook 
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Instructions: 

 

Row 1:  CH 4. Skip 3 chains; DC into 4th chain. Do NOT turn. 

 

Row 2:  CH 4 (counts at 1 DC and 1 CH throughout). 3 DC in space in row 1 

(between the chains and the double crochet). DC in first CH of row 1. Turn. 

 

Row 3:  CH 1. SC in CH space. CH 3. SC in CH space. Turn. 

 

Row 4:  CH 4. 3 DC in CH space. CH 1. DC in last stitch. Turn. 

 

Row 5:  CH 1. SC in CH space. CH 3. SC in space. Turn. 

 

Row 6:  CH 4. DC in first stitch. CH 4. 3 DC in along DC in space. CH 1.  

(This increases the “squares” along this row.)  *(3 DC in space, CH 1) across.  

DC in last stitch. Turn. 

 

Row 7:  CH 1. SC in space, *(CH 3, SC in next space) across. Turn, 

 

Row 8:  CH 4. *(3 DC in space, CH 1) across. DC in last stitch. Turn. 

 

Row 9:  CH 1. SC in space. *(CH 3, SC in net space) across. Turn. 

 

Repeat rows 6 - 9 until straight edge of shawl is about 30 inches wide.  

END ON ROW 8. 

 

Decrease rows: 

Row A:  CH 1. SC in space. *(CH 3, SC in the next space) across, ending with a 

SC right before the last set of 3 DC and omitting the last CH 3 and SC. Turn. 

 

Row B:  CH 4. *(3 DC in space, CH 1) across. DC in last stitch. Turn. 

 

Row C:  CH 1. SC in space. *(CH 3, SC in next space.) across. Turn. 

 

Row D:  CH 4. *(3 DC in space, CH 1) across. DC in last stitch. Turn. 

 

Repeat row A-D until you are down to 1 block of 3 DC. 

 

Row E:  CH 1. SC in space. CH 3, SC in last space. Fasten off and weave in ends. 


